BEEILES | MR wEFR HISLER EANEIER B
201909701 | £ IR L& &
201910006 | £ WL =Xt =
201910001 | % w1 =Xt =
201909003 | £ Ik B =
201909002 | £ LR Bk =
201909007 | RIS =Xt = SECE QN
201909619 | & HHER B =
201909605 | & HMHER B =
201909517 | %& HHER =Xt =
201908818 | % FHEFA &% =
201908803 | % FHEFA &% =
201908806 | £ FHEFA &% =
201908812 % FHEFA &% =
201908816 | % FHEFA &% =
201908817 % FHEFA &% =
201908825 % FHEFA Fie (Z213) = SECE QN
201908913 | % M EFEB &% =
201908917 £ M EFEB &% =
201908830 | % M EFEB &% =
201908915 % M EFEB &% i
201908919 | % M EFEB &% i
201908904 | £ M EFEB &% i
201908914 % M EFEB &% i
201908619 | & R EE =X s
201908628 | R EE =X s
201908616 | £ R EE =X s
201908608 | & R EE =X s
201908612 | R EE =X e LR QN
201908620| MR EE =X e LR QN
201908618 | % MR EE =X s SR
201910012 | £ e Ei% i
201910029 | £ e Ei% i
201910019 | % e Ei% i
201910021 | £ e Ei% p LR QN
201910023 | % e Ei% i ERd)
201909713| 5 MHEEFAR Ei% i
201909803 | % MHER =X i
201909805 | £ MHER =X i
201909718 | & MHER =X =
201909808 | % MHER =X =




BEEILES | MR T EF R HISLER EANEIER S pas
201909716 | & MHER =Xt =
201909720 | B MHER Bk =
201909728 | % MHER HHME (Z27) p
201909809 | & MHER B =
201909229 | % HIHHEIE =Xt =
201909318 | % HIHHEIE =Xt =
201909409 | % HHIIE =Xt =
201909314 | & HHIIE =Xt =
201909302 | £ HIHHEIE =Xt =
201909303 | % M EIE &% =
201909413 | % HIHEIE &% =
201909407 | & HIHPEHIE &% =
201909422 | %& M EIE &% =
201909123 | % FHIBEXA &% =
201909118 | % FHIBEXA &% =
201909109 | % FHIBEXA &% =
201909113 | % FHIBEXA &% =
201909117 | & FHIBEXA &% =
201909112 | % FHIBEXA &% =
201909114 | % HHIEXA =Xt s
201909110| % HHIEXA Ei% s
201909218 | % HIHFIEXB =Xt s
201909219 | %& HIHIEXB =Xt s
201909127 | % HIHFIEXB Ei% s
201909222 | & HIHFIEXB =Xt s
201909209 | £ HIHIEXB =Xt s
201909210| % HIHFIEXB Ei% s
201909130 | % HIHIEXB =Xt s
201909203 | % HIHFIEXB =Xt e LR QN
201909027 | % HHBCE Ei% i
201909025 | % HHBCE Ei% i
201909019 | % HHBCE Ei% i
201909018 | % HHBCE Ei% i
201910206 | %= BFEE =X i
201909829 | % = i Ei% i
201909828 | Shash: ki Ei% i TN
201910219| 5 SHHE Ei% i
201910230 | % SHHE Ei% i
201910222 | % SHHE Ei% p LR AN
201909819 | %« SHEY =X =




HEIES | M5 T EF R RIS HER EANEIER S pas
201909824 | % SHEY =Xt =
201909821 | £ SHEY =Xt =
201909427 | £ 5H YR =Xt =
201909428 | £ 5H YR =Xt =
201910216 | % =HOIE R =Xt =
201909904 | % =5 HRIE =Xt =
201909916 | % = HEIE =Xt =
201909902 | % = HEIE =Xt =
201909630 | % 5B =Xt p
201909628 | % SHIEX &% s
201909627 | & SHIEX &% s
201909629 | % SHIEX &% =
201909620 | % SHIEX &% s SECE QN
201910112 | % IR &% s
201908722 | & INFERF =X =
201908712 | %& INFERF =X =
201908703 | % INFERF =X =
201908721 | % INFERLF &% = SECE QN
201908024 | 5 INEERA =Xt =
201908019 | £ INEERA &% s
201907906 | % INEERA &% s
201907925 | % INEERA &% s
201908103 | % INEERA &% s
201908109 | % INEERA &% s
201907919 | %& INEERA &% e LR QN
201908028 | % INEERA =Xt s LR 0N
201908301 | % INFEEARB &% s
201908402 | % INFEEARB &% s
201908205 | % INFEEARB &% s
201908303 | 5 INFEFEARB =X =
201908202 | 5 INFEFEARB =X =
201908326 | % INFEFEARB =X =
201908117 | % INFEEARB =X =
201905106 | % INFEEFA =X i
201905107 | % INFEEFA =X i
201904925 | % INFEEFA =X i
201904917 | % INFEEFA =X i
201904914 | % INFEEFA Ei% p
201904915 | % INFEEFA Ei% p
201905025 | % INFEEFEA =X =




HEIES | M5 T EF R RIS HER EBNEER S pas
201905022 | £ INFELFA B p
201904829 | % INFELFA Bk p
201904813 | % INFELEA Bk =
201904926 | % INFELFA B p
201905429 | % INFEEB Bk =
201905330| % INFEEB Bk =
201905420 | % INFEEB B =
201905223 | % INFEEB B =
201905221 | % INFEFB Bk p
201905403 | £ INFEFB &% =
201905413 | % INFEFB &% =
201905123 | % INFEFB &% =
201905303 | £ INFEFB &% =
201905322 | % INFEFB &% =
201905418 | % INFEFB &% =
201905717 | % INFFFC &% =
201905820 | % INFFFC &% =
201905518 | % INFEFFC &% =
201905807 | % INFFFC Fie (Z213) =
201905811 | = INFEFFC &% s
201905812 | % INFEFFC &% s
201905714 | % INFEFFC &% s
201905511 | % INFEFFC &% s
201905726 | % INFEFFC &% s
201905727 | % INFEFC &% e LR QN
201905609 | % INFEFC &% e EER N
201906107 | % INFEIED =X i
201906114 | % INFEED =X i
201906119| % INFEIED =X i
201905906 | % INFEED =X =
201905828 | % INFEED =X =
201906112 | % INFEED =X =
201905830 £ INFEED =X =
201905929 | % INFEED =X =
201906124 | % INFEED =X =
201905902 | £ INFEED =X =
201905912 | % INSFELEAD =Xl i TN
201906307 | % INEEEEE Ei% i
201906223 | % INEEEEE =X =
201906327 | % INFEETEEE =X =




HEIES | M5 T EF R RIS HER EBNEER S pas
201906320| % INEEFE B =
201906513 | £ INEEFE Bk =
201906527 | % INFELFE =Xt p
201906224 | %« INFELFE =Xt p
201906218 | % INEEFE Bk =
201906403 | % INEEFE Bk =
201906422 | 5 INFELFE =Xt p
201906311| % INFELFE =Xt p
201904510 % INERBA Bk =
201904424 | B INERBA &% s
201904509 | & INFRFA =X =
201904427 | B INERBA &% =
201904425 | % INERBA TEH o
201904505 | % INERBA &% s
201904515| £ INFREB &% =
201904530| £ INFIREB =X =
201904514 | % INFREB &% =
201904603 | £ INFIREB =X =
201904519 | & INFREB &% =
201904522 | B INFREB =X s
201904604 | £ INFAEB &% = LR QN
201904618 | & INFEEC =X s
201904609 | & INFEEC =X s
201904616 | 5 INFEEC =X s
201904614 | & INFREC &% e
201904621 | & INFEEC =X s
201904611 | & INFREC &% e
201904620 | £ INFEEC =X s
201904625 | INFEEC =X s
201908510| 5 INEEERRAR =X i
201908509 | 5 INEERFEAR Ei% i
201908522 | % INEERFEAR Ei% i
201908513 | % INEERFEAR Ei% i
201908529 | 5 INEERFEAR Ei% i
201908519 | % INEERFEAR Ei% i
201904226 | 5 INEFERA =X =
201904228 | % INEFERA =X =
201904311 | % INEFRA Ei% i
201904223 | % INEFRA Ei% =
201904216 | & INFEERA =X =




HEIES | M5 T EF R RIS HER EANEIER S pas
201904301 | % INEEIRA =Xt s
201904307 | % INEEIRA =Xt s
201904218 | % INFEIRA =Xt = SECE QN
201904324 | % INFEIRB B p
201904413 | & INFEIRB Bk p
201904411 | & INFEIRB Bk p
201904328 | INFEIRB =Xt p
201904316 | 5 INFEIRB B p
201904416 | & INFEIRB Bk p
201904317 | & INFEIRB &% =
201904401 | % INFEIRB Fie (Z213) = SECE QN
201906814 % INFEFBA &% =
201906627 | % INFEFTBA &% =
201906818 | % INFEFBA &% s
201906623 | % INFEFBA &% =
201906622 | % INFEFTBA &% =
201906611 | % INFEFBA &% =
201906724 £ INFEFBA &% =
201906723 | % INFEFBA &% =
201906827 | & INFEZBA &% = LR QN
201906719 | % INFEFLBA &% = LR QN
201906909 | % INFFIEB &% =
201907027 | % INFFIEB &% e
201906916 | % INFFIEB &% e
201907120 | % INFFIEB FMe (Z21) p
201906921 | % INFFIEB &% e
201906904 | % INFFIEB &% e
201907009 | % INFFIEB &% e
201907001 | % INFFIEB &% e
201907105 | % INFHIEB =X i
201906903 | % INFHIEB Ei% i TN
201907220 | % INFEFAEC =X i
201907213 | % INFEFAEC =X i
201907317 | INFEFAEC =X i
201907325 | % INFEFAEC =X i
201907415 | % INFEFAEC =X i
201907217 | % INFEFAEC =X i
201907323 | % INFEFIEC Ei% =
201907215 | % INFEFIEC Ei% =
201907127 | % INFEFIBC =X =




BEEILES | MR wEFR HISLER EANEIER B
201907207 | % INFEFIEC =Xt =
201907526 | % INFFIED =Xt =
201907507 | % INFFIED =Xt =
201907708 | % INFFIED =Xt =
201907707 | % INFFIED =Xt =
201907713 | % INFFIED =Xt =
201907718 | % INFFIED =Xt =
201907616 | % INFFIED =Xt =
201907618 | % INFFIED =Xt =
201907607 | % INFEFIED &% s
201907709 | % INFEFIED =X =
201902707 | % INFEIBCA &% =
201902630| % /] \%“L%XA &% s
201902612 | = INFIBC &% =
201902625 | % INFIBC &% =
201902626 | % INFIBC &% =
201902715| % INFIBC &% =
201902627 | % INFIBC &% =
201902620 | % INFIBC &% =
201902614 | % INFEIBC &% =
201902610| % INFIBC &% = LR QN
201902909 | % INFEIBC Fie (Z213) e
201902819 | % INFIBC &% =
201902823 | % INFIBC &% =
201902726 | % INFEIBC &% =
201902813 | % INFIBC &% =
201902802 | % INFEIBC &% =
201902905 | % INFEIBC &% =
201902827 | % INFEIBC &% =
201902826 | % INFEIBC Ei% i
201902907 | % INFEIBC Ei% p LR QN
201902911| % /J\%mns‘ac Ei% i
201902929 | % INFIBC Ei% i
201903007 | % INFIBC Ei% i
201902928 | % INFIBC Ei% i
201903006 | % INFIBC Ei% i
201903009 | % INEEIE 5‘((: Ei% i
201902921 | % INFEIBSC Ei% =
201903019 | % INFEIBSC Ei% =
201902919 | % /J\%mnﬁcc Ei% =




BEEILES | MR wEFR HISLER EANEIER B
201903010| % INFEIBSC =Xt =
201903029 | % INFEIESC =Xt =
201903101 | % INFEIESL =Xt =
201903119| % INFEIESL =Xt =
201903113| % INFEIESC =Xt =
201903107 | % INFEIESC =Xt =
201903118| % INFEIESL =Xt =
201903122 | % INFEIESL =Xt =
201903212 | % INFEIESC =Xt =
201903126 | % INFIBC &% =
201903129 | % INFIBC &% =
201903309 % INFEIBL &% =
201903223 | % INFEIBL &% =
201903218 | % INFIBL &% =
201903307 | % INFEIBL &% =
201903405 | % INFIBC &% =
201903219 % INFEIBL Fie (Z213) =
201903323 | % INFEIBL &% =
201903312 % INFIBL &% =
201903324 | % INFEIBC &% =
201903320| % INFEIBC &% = LR QN
201903430| % INFEIBC &% =
201903508 | % INFIBC &% =
201903502 | % INFIBC &% =
201903407 | % INFEIBC &% =
201903505 | % INFIBC &% =
201903513 | % INFEIBC &% =
201903416 | % INFEIBC &% =
201903411 | % INFEIBC &% =
201903516 | % INFEIBC Ei% i
201903415| % INFEIBC Ei% i TN
201903621 | % /J\%mns‘(G Ei% i
201903710| % INFEIBXG Ei% i
201903525 | % INFIBXG Ei% i
201903611| % INFEIBXG Ei% i
201903627 | % INFEIBXG Ei% i
201903629 | % INEIE 5‘<G Ei% i
201903615| % INFEIBSC Ei% =
201903526 | % INFEIBSC Ei% =
201903616 | % /J\%mnﬁcG Ei% =




BEEILES | MR wEFR HISLER EANEIER B
201903708 | % INFEIBSC =Xt = SECE QN
201903802 | % INFEIESC =Xt =
201903803 | % INFEIESL =Xt =
201903807 | % INFEIESL =Xt =
201903717 | % INFTBX Fie (Z213) =
201903815| % INFEIESC =Xt =
201903817 | % INFEIESL =Xt =
201903814 | % INFEIESL =Xt =
201903812 | % INFEIESC =Xt =
201903806 | % INFIBC &% =
201903811 | % INFIBC &% = SECE QN
201904010| % INFIBC &% =
201903929 | = INFIBC &% =
201904014 | % INFIBC &% =
201904011 | % INFIBC &% =
201903907 | % INFIBC &% =
201904020| % INFIBC &% =
201903920 | % INFIBC &% =
201903908 | % INFIBC &% =
201903914 | % INFEIBC &% =
201903925 | % INFIBC &% =
201904209 | % INFEIBC &% =
201904107 | % INFIBC &% =
201904208 | % INFIBC &% =
201904024 | % INFEIBC &% =
201904123 | % INFIBC &% =
201904202 | % INFEIBC &% =
201904106 | % INFEIBC &% =
201904113 | % INFEIBC Fie (Z213) e
201904105 | % INFEIBC Ei% i
201904023 | % J\aq;.IJ Ei% =
201900301 | % 4 )LBUBA Ei% =
201900103 | % 4 )LBUBA Ei% =
201900314 | & 4 )LBUBA Ei% =
201900204 | % 4 )LBUBA Ei% =
201900303 | % 4 )LBUBA Ei% =
201900106 | % 4 )LBUBA Ei% =
201900206 | % 4 )LBUBA Ei% =
201900112 | % 4 ) LBUBA Ei% =
201900104 | % 4 )LBUBA Ei% =




BEEILES | MR wEFR Kiesh EANEIER B
201900312 | % 4 ILEIBA =Xt = SECE QN
201900705| 5 #hJLBUHB Bk =
201900430 | & 4 JLBUHB Bk =
201900511 | % 4 JLBUHB B =
201900512 | % 4 JLBUHB Bk =
201900427 | & 4 JLBUHB Bk =
201900502 | % 4 JLBUHB B =
201900621 | % 4 JLBUHB B =
201900414 | & 4 JLBUHB Bk =
201900509 | % % )L#HB &% =
201900412 | % % )L#HB &% =
201900911 | % hILEImC &% =
201900709 | % hILEIHC &% =
201900813 | % hILEImC &% =
201900718 | % hILEImC &% =
201900903 | % hILEIHC &% =
201900825 | % hILEIHC &% =
201900806 | % hILEImC &% =
201900712 | % hILEIHC &% =
201900804 | % Pk yie &% i
201900912 | % 4 ILEImC &% = LR QN
201901122 | % % )LEHD &% i
201901103 | % % )LEHD &% i
201901101 | % % )LEHD &% i
201901020 | % % )LEIHD REHE o
201901220 | % % )LEHD &% i
201901108 | % % )LEHD &% i
201901030 | % % )LEIHD &% i
201901230 | %& % )LEIHD &% i
201901203 | % 4 )LEIFHD Ei% =
201901026 | % % )LEUHD =X p LR QN
201901416 | & 4 ) LBUBE Ei% =
201901430 | % 4 ) LBUBE Ei% =
201901520 | % 4 ) LBUBE Ei% =
201901423 | % 4 ) LBUBE Ei% =
201901320 | % 4 ) LBUBE Ei% =
201901507 | % 4 ) LBUBE Ei% =
201901604 | % 4 ) LBUBE Ei% =
201901315| & 4 ) LBUBE Ei% =
201901529 | % 4 ) LBUME Ei% =




BEEILES | MR wEFR HAeL EANEIER B
201901319| % “hIJLHIBE =Xt = SECE QN
201901612 | % 4 JLBHF Bk =
201901609 | % 4 JLBHF Bk =
201901814 | % 4 JLBHF B =
201901813 | % 4 JLBHF Bk =
201901701 | & 4 JLBHF Bk =
201901714 | & 4 JLBHF B =
201901702 | & 4 JLBHF B =
201901623 | % 4 JLBHF Bk =
201901613 | % 4 )LEmF &% = SECE QN
201901823 | % % )LEmF &% = SECE QN
201902119 | % “ILEIHG &% =
201902206 | % “ILEIHG &% =
201901916 | % “ILEIHG &% =
201902004 | % “ILEIHG &% =
201901925| % “ILEIHG &% =
201902002 | % “ILEIHG &% =
201902108 | % “ILEIHG &% =
201902025 | % “ILEIHG &% =
201901917 | % “ILEIHG &% i
201901919 | %x “ILEIHG &% = LR QN
201902318 | & %) LEUHH &% i
201902223 | & %) LEUHH &% i
201902212 | %& %) LEUHH &% i
201902314 | & %) LEUHH &% i
201902409 | % %) LEUHH &% i
201902328 | & %) LEUHH &% i
201902430 | & %) LEUHH &% i
201902229 | %x %) LEUHH &% i
201902302 | % %) LETH Ei% =
201902421 | % %) LETH Ei% =
201902518 | £ 4 ) LI Ei% =
201902522 | £ 4 ) LI Ei% =
201902521 | £ 4 ) LI Ei% =
201902520 £ 4 ) LI Ei% =
201902524 | £ 4 ) LI Ei% =
201902519 | £ 4 ) LI Ei% =
201902517 | £ 4 ) LI Ei% =
201902526 | £ 4 ) LI Ei% =
201902523 | £ 4 ) LI Ei% =




BEILS | M5 REZR 5N g EENEIE R ZE
201902525 | 5 %) LE I =g =




